(1202)

B.Com. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of First Year)
Part IT — FINANCIAL ACCOUNTING

Time : Two and a half hours Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.

Each question carries equal marks.
1. State the main limitations of accounting.
@30e30R Gong), HBMBOD Beyw.
2. Explain the advantages of computerized accounting.

EoTr5eaBE @5 oe3oR Hud &S@rNHve deod.

3. What do you mean by the suspense account? Why is it opened?

TP FIT° DEB? TV IO BEFE?

4, Write short notes on :
(a) Deleredere commission

(b) Treatment of normal and abnormal losses in consignment account.

& 808 T30 Ko orabod.
(a) BSREB ¥Bu5S
(b)  &SpSI0tn PrEres® Reprdes B0 eRpESe Do Sowofod e950e30h Do,

b. What are the objectives of creating reserves?

Bagen HNOVEOS® [SES QTR I0e3?

6. Discuss the _mérits of various methods of calculating depreciation.

BHOG B8) 0D DG égéoe) ergre 080 BB oHIw.



 SECTION B — (5 x 10 = 50 marks)
Answer any ONE question from each unit.
Each question carries equal marks.

UNIT'I

7.  Journalize the following transactions in the books of a trader :

2007

Dec. 1 Started business with cash

Dec. 3 Goods purchased for cash

Dec. 3 Furniture purchased cash

Dec. 7 Sold goods for cash

Dec. 9 Sold goods for Naresh Kumar

Dec. 12 Goods purchased from Vinod kumar

Dec. 16 Goods sold to Anil and allowed him 10% trade discount
Dec. 22 Cash received from Naresh kumar in full settlement
of his account
Dec. 25 Cash paid Vinod Kumar
and he allowed discount
Dec. 28 Cash paid for purchase of stationery
Dec. 31 Paid office rent
Dec. 31 Goods returned to Vinod Kumar
Dec. 31 Paid salaries to staff

TS0 E’Q)és'jeéﬁ 808 H5HIT O DerHien TraHod.
2007
Groad 1 TGO (E0ROBERE B e
&ond 3 DRGHE 57 DK
&onth 3 DK $8)B6 S0 en
Gnondd 7 S B esiy¥o
Gontd 9 SORODHTBL e HEH
Ghow 12 O3°BHHIE wod 57 S
o 16 @RS HHH ey, B8 ad)d TREY Gamoen 10%

GRowdr 22 HBABD Hod Frf erd S8, Som HRrGD oy

Rs.
50,000
30,000
5,000
10,000
8,000
5,000
6,000

7,600
1,900
100
250
800
500
900

50,000
30,000
5,000
10,000
8,000
5,000
6,000

7,600
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2007 8.

ot 25 as%s:mS;S DYoDD e 1,900

B 0DHODH G080 100
&owt 28 R0 E7ocEd DYoD DK 250
SuowtH 31 - Dodd e @D 800
Gnoath 31 AP EE57BLH To5R DD HHH 500
Gnowdh 31 depoBE 3Yodd Baren 900

The following transactions are to be entered into proper subsidiary books. These books are to
be closed on January 31 and posting into ledger is to be done:

2008
January

1 Purchased goods from Mahendra of the list price of Rs. 40,000 less 10% trade
discount.

5 Sold goods to Moti for Rs. 10,000.

6 Return goods to Mahendra list price of Rs.5,000.
T Shyam Singh sent goods for Rs. 30,000.

8 Sold goods to Harish for Rs. 12,000.

10 Goods returned by Harish Rs. 2,000.

19 Sent goods to Moti for Rs. 6,000.

27 Sold goods to Mahesh for Rs. 8,000.

(808 HFHIFEH0OR IPH NIFAE ae.g;e)ess R T 35T AT Do,

2008

23008

1 Bo%roies $08 SR 0 B HED erdEe (58 677, 40,000 85D Gam,08 10%
5 2588 @b S 8. 10,000.

6 505P0EE TR DD BEK erdT® 6 & 5,060.

7 Fog0 DOR S0 B 8. 30,000.

8 B DS BE%H Eov. 12,000.

10 TeBD TEHR0 Dar B 8e. 2,000.
19 27H2 HodH D 8. 6,000.

27 TN D00 VL) & 8,000.
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UNIT II

Prepare a three column cash book from the following transactions and bring down the
balance for the start of next month.

2008
Rs.
April 1 Cash in hand 2,500
Apr. 1 Cash at bank 10,000
Apr. 2 Paid into bank 1,000
" Apr. 5 Bought furniture and issued cheque 2,000
Apr. 8 Purchased goods for cash 500
Apr. 12 Received from Mohinder 980
Discount allowed 20
Apr. 14 Cash sales 4,000
Apr. 16  Paid to Amarnath by cheque 1,450
Discount allowed 50
Apr. 19 Paid into bank 400
Apr. 23~ Withdrew from bank for private expenses 600
Apr. 24  Received cheque from Patel 1,430
Allowed him discount 20
Apr. 26  Deposited Patel’s cheque into the bank
Apr. 28  Withdrew cash from bank for office use 2,000
Apr. 30 Paid rent by cheque 800
&8 1808 ;’)5:)550“&)}6.) 2007 DR Do xﬁ)egés "R, BEDHB Vo |80 DO ERORTHOG.
2008
&,
WS 1 DS HiKeo 2,500
RS 1 erybS® S 10,000
NS 2 PO0E” &0 BAKE 1,000
DS 5 BB 50 adys DY), 2,000
DS 8 DRESI BHH §0RTen 500
MRS 12 3oIrosh 08 HrGH B 980
B8 2AYS G065 20
RS 14 BRSO CRBEGN 4,000
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10.

2008

&,
DS 16 DK, T @b 3o ) 1,450
QD) B A0 ; 50
IS 19 NS wi B 400
DS 23 Arod PN 550 W 0D BN - 600
DS 24 HES 002 HOyd Dy, 1,430
wBH08 YO G 0Ld | 20
DS 26 SBS D)0 ergoHS” Gaered It
OHS 28 ehd esdored e o S8 2,000
@S 30 By, oo IYoad & 800

Assist Mr. Ignorant in ascertaining his cash book balance.

The following information is available:

(a)

(b)

(c)

(d)

(e)

®

(g)

His pass book showed a debit balance of Rs. 9,550 as on 31-3-2008.

Cheque issued on 11-3-2008 for purchases for Rs. 5,900 was credited in the pass book as
Rs. 5,400 on 25-3-2008.

A bill of Rs. 2,500 discounted at 5% flat was returned dishonoured and was wrongly
credited in the pass book on 27-3-2008.

An amount of Rs. 850 paid in cash, towards salary was wrongly posted to the salary
account as Rs. 1,850. '

A cheque for Rs. 2,150 received from Mr. Burman was entered twice in the cash book on
20-3-2008 but the cheque was not collected by the bankers till 31-3-2008.

A cheque for Rs. 1,725 appears to have been deposited directly by Mr. Clock on
20-3-2008 was returned dishonoured on 30-3-2008.

A cheque for Rs. 3,600 was issued on 17-3-2008 to Mr. Day on 19-3-2008. He returned
the cheque and received cash. However the entry made on 17-3-2008 was not cancelled
by mistake. :

2035 aE Do BB B> HIL0 Deg FBoBODH FFALBECE. F* BIND HrTE0 OUFNHTYB.

(a)

(b)

(c)

(d)

31.3.08 % e®d RiHLo &r°. 9,550 v Bae deg BIrHEHE3

11.03.08 % S%offer BB &, 5,900 o 2%y, =8 DoHEWHB. wond D HYLeS® 25.03.08 B
85°. 5,400 o) &3y B ehgto sBRIB

5% £ Bom,000 IVS . 2,500 © Doy eFEste S0 T F093B8 27.03.08  2HYFES® BRpw
BéeS esgeto wsBRIB

Ssore 8. 850 en HiiH 2P0, SGpre Sore grord” K. 1,850 eone S Doko BBRME
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1.1

(€) 2005 wb3pd H00 20.3.08 % . 2,150 0% B3Ky,H?), B HIES® Botdwd) $3Te Danito BRIS.
©00® 31.3.08 BE HBLT ergotd e D), Hots Aoy Hdomen DaHBE

() 20356 58 20.3.08 5 . 1,725 © 3Ky, Jdore 83‘505366 Aara2e5 Doore, emrdtes D0 30.3.08 S TH
Dobdss

(g) 17.3.08 % 2095 & £ 8. 3,600 © D)0 &8 BADEHE. 570 19.3.08 5 edin DK TH DI,
DK SRS TR, ond 17.3.08 % PR S50IPEH0ES" DDt 863 BaHBSe).

UNIT III

From the following Trial balance prepare trading and profit and loss account for the year
ended 31st December, 2006 and Balance sheet as on that date

Debit Credit
Rs. Rs.

Drawings 10,000
Stock on 1.1.2006 46,000
Purchases and purchase returns 1,50,200 600
Cash in hand 3,400 '
Bank balance 22,660
Freehold premises 38,600
Trade expenses 840
Printing, stationery and advertising 1,640
Professional charges 330
Commission received 3,300
Investments as on 1st Jan. @ 10% 4,000
Interest on deposits j 200
Sundry debtors and creditors 36,000 29,000
Wages 25,000
Salaries 14,000
Capital ' 1,14,000
Income-tax 1,6700 3
Discount allowed and received 6,300 4,600
Sales Returns and sales 500 2,08,950
Bills receivable/Bills payable 3,200 10,000
Office furniture 3,050
Rent, sales and insurance 4,000
Bad debts provision 670

‘ 3,71,320 3,71,320
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Adjustments :

(a) Provide for wages Rs. 5,000.

(b) Write off 5% depreciation on freehold premises and 10% on office furniture.

(¢) Insurance to the extent of Rs. 200 relates to 2004.

(d) Stock on 31-12-2006 is Rs. 52,000.

(e) Charge interest on capital at 5% and drawing Rs.300.

(f)  Further bad debts are Rs. 1,000.

(g) Provide for doubtful debts @ 5% on sundry debtors.

(h) Make provision for discount on debtors and reserve for discount on creditors @ 2%.
8022y eo¥er esgrdorr 31.12.2006 &° aoémdbé DoHETrDs HEE ergidre T B e Bhaeed ef’g
©pe HIE HAITE BOHDE).

a0 B&ed
e 8.
ArothTPEs e 10,000
3% Deog 1.1.2006 46,000
E750R o0 SuBan §H0R en TrHoen 1,50,200 600
I8S° BKS 3,400
ePgOEOS” DK 22,660
RgTnaind gHren 38,600
HEED B 840
;&nLése-a, R308 BB ecﬁsgﬁoﬁ 1,640
HYBIEID PENLO 330
52yd EBoA® 3,300
Depees (3958 10%) 4,000
Garen Bocs 5G _ 200
DD w0ea|fRyen HoBaiw BueTrden 36,000 29,000
DETren 25,000
z%@v@ 14,000
HoreHo : 1,14,000
e3P a0 DY 1,800
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12.

DS B&eS

. 8.
&am;060 BDYOB DB 598 6,300 4,600
@85 TS0 BBk edysen 500 2,08,950
Sdrren Deven, 3@30@ Denen 3,200 10,000
THR0 $G)b : - 3,050
B, Bex SoBoky Hibre 4,000
orRer8e Jomed 670

3,714,320 3,71,320

R’J@aa"eog H

(a) DdwroH domew e, 5,000.

(b)  Rgamyosnd grsmren Bois 5% esdHidd $8)51 S 10% BEHHES domytn Davod.

(©) & 200 HAr 2004 £ SowoBodSE.

(d) 31.12.06 % 35 deg . 52,000.

(6) HoreEdo Bt 5% rodardste e 87, 300 @0 HEO opyen DBabod.

() e ood erden 8r°. 1,000.

(8) 9294 ansyiiue Hes 5% Sowairdy owd wrfeurr Jozen Babod.

(h)

ey Gim,06 5765 DT BT B G060 785 Bestiyg 2% D07y DAHOE.

Pass the rectification entries and show the suspense account for the following errors,
detected after the preparation of the trial balance :

(a)

(b)

(c)

(d)
(e)
®

A cheque for Rs. 220 received from a tenant for rent has been entered in the cash book,
but the double entry has not been completed.

The account of Rama Rao, a debtor for Rs. 160 had been written off as bad, but the
entry has been made only in the personal account.

The discount column on the debit of the cash book Rs. 200 had been posted to the credit
of discount received account.

The sales day book is undercast by Rs. 3,150.
Rs. 95 received for commission is not posted to commission account.

Goods returned Rs. 27, to R.K. and Company, though entered in the returns-book, is
left unposted.
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13.

14.

@OEeT HOITD BID BEITB BIHD BYPe E1YE0 BBRIB. JH8e, 000 TP BRTB PR S50,

(a) eRER) T°D SHE Ev. 220 DK K0 @) 576D BETD DK HiHKoS® Trahtio BBROS. oD =05
So FrosS.

(h)  w0tGES TrHrrory) B9gHeRD 80, 160 o oeRerdm BEVCHEDB. wand Se8 Hreido B D8
grars® SRy oraHo 8BRHA.

() i HPEo BAES P G065 HHD BB &°. 200 o0 B 3T EAm0t5 H0Y9 grerS® Sared Dabiso
28RHE.

(d) edysre Hogo 81°. 3,150 en HE) S Lo sBRHB.
¢ % b

(e) e, 95 e 525 K250 SRS arees® $BrH DoHSH>.

(0 R.K. ©0& 50208 5550 2gys 657, 27 © S50 TH500 HI¥eS® ord5)e3E 52775 DaHBs.

UNIT IV

Swastik Ltd. forwarded on 1st January, 2006, 100 bicycles to Narinder & Co. of Delhi to be
sold on behalf of Swastik Ltd. the cost of one bicycle was Rs. 250, but the invoice price was
Rs.300. Swastik Ltd. incurred Rs. 1,000 on freight and insurance and received Rs. 10,000 as
advance from Narinder & Co. Narinder & Co. paid Rs. 500 as octroi and carriage, Rs. 400 as
rent and Rs. 300 as insurance. By 30" June 2006, 80 cycles were sold for Rs. 25,000.
Narinder & Co. will receive a Commission on sale at 5 percent on proforma invoice price and
25% of any surplus price realised.

You are required to give the journal entries to record the above transactions in the books of
the consignor and the consignee and also write up the ledger accounts in the books of both
the parties.

S OBE 1 @SB, 2006 5 GHS o8N FBosb HoBoin Hobd THE 100 PG B BHEHD
SARDRIONOSD HoVT . 2.5, PES B 8. 250 90 ARGED 8 8. 300 JNE OWBE S, vy 8oes
8. 1,000 9iy) D08, 58088 & Kowd Bod emrgdoyw . 10,000 ), 52398, 58tk & Lond &re. 500
o el bay rBErd e Bod, 8. 400 o e Bos, & 300 HEr Bols oA
30 23, 2006 @38 80 PR K. 25,000 0% eapTet. FBoEE S8y Lond [Prroy avrgand 553 5%
Bearoy ATTIONR GEH 0D ARd When JuBop 25% SHNG Browtuod. $80sE & Hobd DoTdyd
BT &0l [ DYoDIE.

R DPTBOL E D, ESpR HU5eS® T graresy ButHod.

A and B enter into joint venture. A agrees to bring capital in cash. Accordingly a joint
banking account is opened by A for a sum of Rs. 80,000. B buys goods worth Rs. 50,000 as
part of his share of capital. Further goods worth Rs. 1,18,000 were purchased from C Paying
Rs. 60,000 and balance by a promissory note signed by A and B.

The goods were sent to Calcutta for sale. Expenses totaling Rs. 5,000 were incurred in
sending the goods. Part of goods were damaged and a sum of Rs. 25,000 were recovered from
the insurance company. The balance goods were sold for Rs. 2,20,000.

Record the above transactions. Also prepare joint venture account, joint bank account and
accounts of A and B assuming that the promissory note was duly honoured.
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15.

16.

A H08av B oo & Trgrtod” (5380070, T Tgrto S0 ol &dnd ergoH gromi 3626. 900"
A 8. 80,000 3darcd. B 85 arer Sorretos® grfore &, 50,000 o8° Sthmb S, stad C ood
8o°. 1,18,000 devd Ko IS8 5 eod &rr. 60,000 Dowd 3Yod e 2e0dH A HBav B Sowso
DD P08 e goTy.

DB 83&3&5‘33 COLL 8 Soarrth. aotasH &0, 5,000 B 9000700, ET0B DB DCE00D0HOEIL NSl
Eond Bood &, 25,000 o Sowo HYHE. OHROD HoEoHy B, 2,20,000 e ea:f).)écéo 2BRJ8.

2008 S eS8 DoBHED PINR, P HPTTOH Gind TP PrEE, eI Wy PEEy DBaky
A, B aroros 8055t Sapod.

UNIT V

A Company purchased a second hand machine on 1st April, 2004 for Rs. 17,000 and spent
immediately for its repairs Rs. 1,800 and for its erection Rs. 1,200. On 1st October, 2004 it
purchased another machine for Rs. 10,000 and on 1st April, 2005 it sold off the first machine
(Purchased in 2004) for Rs. 16,000. On the same date it purchased a new machine for
Rs. 25,000. On 1st July, 2006 it bought a second hand machine for Rs. 8,000 and spent
immediately for its repairs and erection Rs. 2,000. On the same date it sold the second
machine (bought in Oct, 2004) for Rs. 8,500.

Depreciation was charged at 10% on the original cost method and accounts were closed on
31st March every year. Prepare Machinery account for the period ending 31st March, 2007.

1-2DS, 2004 & 2.8 Sovd a¥ Eo&Iok ahoprdy &, 17,000 & 5%, Jowd BLEH . 1,800 39)09,
8. 1,200 pE)E° 3Dod08. 1 @f w0, 2004 5 Lobd 08 aboedy & 10,000 H E7H8. 1 RS , 2005 &
Eond st (2004 &° §%) wrdd) §7%) avopeRy 8. 16,000 £ ARHB. @t G5 8. 25,000 & H86° 5%
aboEeR) §79)8. 1 &8 2006 S Lod 8. 8,000 0H WEo&ET0E abomrdy 57, Doesd 6. 2,000 o B,
LIHE 30D08. @6 8% Kond Bowd ahoErRy (2004 &° 30)H8) &, 8,500 o RDE.

(98 PodEyB0 5078y 31 & e ey e BoSBYTVE 10% THpd IS o BB, 31 D°8), 2007 H
©oBHHIGIS OB ADOO FrTe AL BaHod.

A firm desires to debit its profit and loss account with a uniform figure every year in respect
of repairs and renewals. It expects that considering the life of the asset in question
Rs. 10,000 will be the average amount to be spent per year. Actual repairs are Rs. 1,000 in
the first year, Rs. 2,300 in the second year and Rs. 3,700 in the third year. Show the
provision for repairs and renewals account.

2.8 éoé;) RHIHIBNHe0HOEI A DT, B SodE)%o Sosdysoen, ADEGEs PB) 80¢s erEHFO PT GeS
DODDBHO DYo0D08. [HB HoHEYG0 e BIBS L0 HHRS® VLS (B Soddyso HSHRMe) &7, 10,000 e
&OHVYD OV DO, e HoBaRBIe e SoDEyEoS” 8°. 1,000 Bo&" SodEos® K. 2,300 HuE”
HoDEYBOS® 8w, 3,700. JosDRBIeD, HHEYEs FER WHod.
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(1602)
B.Com. DEGREE EXAMINATION, MARCH 2012.
(Regular)

(Examination at the end of First Year)
Part IT — INDIAN TAX SYSTEM AND INCOME TAX LAW
Time : Two and half hours Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)

; Answer any FOUR of the following.

1. Direct and Indirect taxes.

(BLISRGY S56% Jdyen.

2. Incidence of tax.

3&)4 0.

3t Perquisites.

baeagw.

4. Explain Municipal Rental Value and Fair Rental Value.

B0DVIS ©F Devd 8000 AVEH &B denis 23BoHw.

5. What are the deemed profits under section 41?

DES 41 35750 grB ergren Hav?

6. Write a short note on long term and short term capital assets and gain.

8§50, B5eysd5 Deynd ee0 M08 ergred i .8 O TRy EEakUB.

=1

General Incomes u/s 56 (1).

DED 56(1) |80 grSes eseairen.

8. Deemed Income.

FrI% eseaN.




10.

11.

SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.
UNIT I

Define Agricultural Income. Explain partly agricultural income and partly business income.

DO STATRY  DEFDOYDD. 288 SydRra ewraho HoBay 3BE THO ST AR

9HB80HA.

Or

Mr. Rajmohan an Indian Citizen went to London for business purpose on 8% July, 2009 and
came back to India on 25t March, 2010. He was never been out of India in the past.
Determine his residential status for the assessment year 2010 — 2011 as resident or

non-resident.
§ RIS GRS 2otk BB TS VDG 8 P, 2000 B ©0ESH I SOA BTN 25 35°6)
20105 Sy, BB MEAS® IYAr sbssveD DYBH. 2010-2011 Iy AR JOSHTHS SBD AT

SDS THAL B AT 5 TG BdaHADHW.

UNIT II

The following are the Incomes of Shree Deepak for the previous year 2010 — 2011.
(a) Dividend from Indian Company Rs. 10,000
(b) Profit from business in Japan received in India Rs. 1,20,000.

(c) Profit from business in Pakistan deposited in a bank there. This business is controlled
from India. Rs. 2,00,000

(d) - Profit from business in Indore (Controlled by London Head Office) Rs. 1,10,000.

(e) Interest received from a non-resident Mr. Abdul, (on the loan provided to him for a
business carried on in India) Rs. 50,000.

()  Income was earned in America and received there, but brought in India Rs. 80,000.
(g) Share of income from Indian partnership firm. Rs. 1,50,000.
(h) Income from house property in India received in America. Rs. 62,000.
(i) Interest on debentures of an Indian company received in Dubai Rs. 25,000.
() Capital Gain on sale of agricultural land situated at Ajmer Rs. 48,000.
Compute his taxable income, if he is :
(i) Resident
(i) Not-ordinarily resident.

(iii) Non-resident.

2 : (1602)




13.

S BI0D D500 K BOBEYSRH 2010-2011 & & BSED Sowoods estrairen :

(a)
(b)
(c)

(d)
(e)
®
(®)
()

@

erSBaH Sond Hood &:)aoc.gr' 8. 10,000/~
BINED TR0 2008 Y ergren ErEBBE0S® BWHB &, 1,20,000/-

EISD Tgo Hood 3B oo K8 wrPHE RS BaLEHE e TS GrOEeE ok
Dabo@oswed’od K. 2,00,000/-

206060 TG0 008 ergo (00tS 8 edS Buod Daho@ode&'o8) . 1,10,000/-
DTN5D wz.geg 00d 3839 :oé, (gr88D806® Trgro BADE"O8 RS wveoyp) &, 50,000/ -
BB57S" SorB0D 20BA BREy SHWD, GrE6BTE BLBYYHE 8. 80,000/~

FEBAD rAiRngog 90 H0d HAYS eErobos® Trer 8. 1,50,000/-

rEBB506" o MR Sood SOY ewao EROSS® 20858 8. 62,000/~

grE8ah Sod BoBYp 3G erdHS® 20898 25,000/- |

aaﬁéses‘ DR DO FIA BREOTGO° HAYS Bareds erdo K. 48,000/ -

3 858

(i) Aprde o700
(i) ~Agrde Do 5°¢D

(ii1)  dTD 576 oD BoBTOS” BB SHYH 08 edhy emrao 8095w,

Or

Distinguish between statutory provident fund: recognised provident fund and an
unrecognised provident fund.

TRITEE P08, fb_l;o‘@ 2r08% 350 B 0B Frosd FAGGOEOH Dogie SyErgreo DB, R0d0.

UNIT III

From the particulars given below calculate salary income of Mr. Yadav for the assessment
year 2011 — 2012.

(a)
(b)
()
(d)
(e)

Basic pay : Rs. 15,000 p.m.

Dearness Allowance : 60% of salary (50% of D.A.) forms part of salary from 1.1.2011.
Bonus : Basic salary for one month.

Commission Rs. 66,000.

Leave encashment (it relates to encashment of current year’s leave) Rs. 20,000.

3 (1602)



(f)

()

(h)

6

(k)
@

(m)
(n)

He has engaged an helper at Rs. 1,200 p.m. and his employer pays him Rs. 1,500 p.m.
on this account.

Medical Bills for Rs. 50,000 were reimbursed in following manner :
(i) From a notified hospital Rs. 12,000.

(ii) From a private nursing home Rs. 38,000.

Mobile telephone bills of employee paid by employer Rs. 15,000.

He has employed a cook for his personal use at Rs. 1,000 p.m. and his employer has
reimbursed such salary.

On 1.12.2010 he has taken a loan of Rs. 3,00,000 from his employer to purchase a car.
Rate of interest is 4% p.a. Repayment of loan @ Rs.5,000 p.m. is to start after 4 months
from date of taking loan. Rate prescribed by SBI on 1.4.2010 was 8%.

He and his employer contribute Rs. 3,000 p.m. each towards RPF.
Interest credited on the accumulated balance of RPF @ 10% is Rs. 20,000.
He received Rs. 20,000 as leave travel concession but has not traveled anywhere.

He has been provided with a rent free house hired by employer at Rs. 20,000 p.m. and
also provided 1.8cc car for official use.

Mr. Yadav is posted at Nagpur, population of which is 18 lakhs.

55 B0 ABgRAED D300 o0& 2011-2012 S8y DS SoSBTRE AIES @), S0 Hod ewraboD

B8 0B :

(a)
(b)
(c)
(d)
(e)
()

(g)

(h)
(@)

0

(k)

53°0% 8o : B K. 15,000/ -

P50 : 2508° B0% (50D §B506" 50%) (1-1-2011 5508 Bos® grifo)

5% : .8 Do 5708 B¥0

E5050 : 6. 66,000/~

SO BTEE%) Doden (a8 (SRS SoIbeso SHEE 38y98) &7, 20,000/-.

B> 08 BFHOR Home FWED FOLH &7, 1,200/~ S0 298050 BB AESTD ROBDBO
45, 1,500/ ot .

S8R 22085 D5 B 8. 50,000/~ & 1808 dore YTHoN

(i) 80D oBd e@ ook 8. 12,000/ -

(i) Pdew 38yoR TS Hood . 38,000/ -.

a&'§A ciingb 2086 BOPES Depen AHEHTD DYodDB 8. 15,000/ -

5D 20t VBTN D2BO FoEH 1,000/-0K 2.8 00T 8 BT Bk @8R Ao Sod J6R
2Ot BITED. '
1-12-2010% St S350fen DB BB AHEATD $08 8. 3,00,000/- B0 SRETYE. 5 Bew
SoHBYTO8 4%. B0e0 SRS BA 08 TeH DOW &1, 5,000/~ S B8R Doy ProoeiiHEcd.
1-4-2010 % }eS eof &8 odatr 6B Srvosads H§dew 8%. g

eothis0 0BAL) SBD AHEATR DO Kv. 3,000/~ SHYPd HBoBeED IS5 DRS DYTHK.
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() ro8oduds ¢y 2E Soad degp 10%-5%4p% BES Jaheds 9§ 4. 20,000/~

(m) Do @Harn oond Kriod” o) 20858 . 20,000/~ 50 @B 24,48 |Satrdosds.

(n) 2005 2B 1.8 .. Mo 608 S0 2850 Homen IADEHB. R0 K. 20,000/ aHesdrdd
U0 BWSTRED TR0 SOB M)Tr ArES50 Bocs ©BRE Donen BADERIB. A 18 e wree Ko

TR IeES’ DaH NGO 236RE.
Or
14. Following are the particulars of two house properties owned by Mr. Swami.

Particulars 7House -1 House - II
Municipal Valuation 96,000 90,000
Fair Rent ~ 88,000 96,000
Standard Rent 90,000 1,08,000
Actual Rent Received 9,000 p.m. 10,000 p.m.
Self occupied 1.4.10t0 30.11.10  1.12.10 to 31.3.11
Let out 1.12.10 t0 31.3.11 1.4.10 to 30.11.10
Municipal Taxes due 6,000 8,000
Paid 3,000 NIL
Interest on Borrowed Money 10,000 42,000

Loan taken to construct House II is still outstanding. Loan was taken in 1998. Find out
Mr. Swami’s Income from house property.
So BI0D DSove g BE), Bodh Hgo rz):ﬁ§§ How0BoDNE.

D3e C Kyan - T s - 11
300036 &g ded 96,000 90,000
S0ED &F 88,000 96,000
@-20e38 &3 90,000 1,08,000
TBHorT V5EB0S e 9,000 Re%H 10,000 3%
Rgomd8 TLHIHd 1.4.10 t0 30.11.10  1.12.10 to 31.3.11
orand 2098 11210 0 31.3.11  1.4.10 t0 30.11.10
SIS Dayen wsTanen 6,000 8,000
SLESEE 3,000 NIL
P BOYS S 5 10,000 42,000

BocS T AUyEacE Bayd epp w0 338 IYosded HoB. o 19986° STy, HIFY Hod Ix
By, BEaHoR SRR,
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UNIT IV

15. Sri Sumit Desai subrmtted profit and loss account for the previous year 2009 — 2010.
Compute income from business for the assessment year 2010- 2011.

Particulars Rs. Particulars Rs.
To Salaries .2,05,000 By Gross Profit 10,29,500
To Proprietor’s salary 1,50,000 By Interest on securities 13,500
To Rent of the building . 90,000 By Commission 17,300
To Repairs to building :
Current Repairs 10,000
Capital repairs 21,000
Capital expenditure 80,000
To Advertisement 60,000
To Sales tax 32,000
To Income tax : 17,000
To Bad debts 5,000
To Provisions for doubtful debts 7,200
To Depreciation on : :
Plant ; 21,000
Furniture 5,000
To Sundry expenses 500
To Security transaction tax 9,000
To Net Profit 3,47,600
10,60,300 10,60,300

& 0208 Bamc> 2009-2010 % SodE0O8 ergidage e BOSrE B, 2010-2011 Sy dFSe SoDEYRS
T80 5008 esTrafER Keand WakoBw.

DHoren | 8 DHoeen .
To deren ' 2,05,000 By Sye erafdn 10,29,500
To aHassed SBsw 1;50,000 By ngrsBedop 9§ 13,500
To gdaros & 90,000 By £35S A 17,300

To g55ae08 ;‘Dﬁ‘a‘néﬁgw

53308 Bo638e0 10,000
Depad DEByBIen 21,000
Deyed Ho00 80,000
To (S50 60,000
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16.

e

DHoEen &, DRoee &oe,

To INEY Iy 32,000
To esorany 5y 17,000
To oD erden 5,000
To Sosasrasas erfe 08 7,200
To &8

o0 21,000

$8)56 5,000
To 298 a8y 500
To Pgrg8ed S555tore Sy 9,000
To 288 ergssn 3,47,600

' 10,60,300 10,60,300
Or

Mr. Mahesh purchased an art piece of Moghul's period for Rs.4,00,000 on 5t July, 1978 and
Rs.1,00,000 is spent for glass frame and illumination with electric lights in October, 1986.
He sold the asset for Rs. 33,00,000 during the previous year. If selling expenses are
Rs. 15,000 calculate capital gain for the current assessment year. Cost inflation index for

1986 — 87 is 140.

S &8, 1978 & @ DR IAS HEShe o Tl 3¢ DBBD 8. 4,00,000/-0% S0 I, effui,
1986 &° e & 5 B3NV A0S $708 D%y weREs LBADH e (HS> HaKrEs K 1,00,000 8 I,
118 S058)50S" &3 e & 33,00,0000% @By H6a%k0 ©BNEY PBen Ern 15,000 sand (BRy5 Say Ao
G DoDBYTRE Depad ergfHnmo EFHORRRN. H5a0 (S 5ees So~d Bog)y 1986-87 3% 140.

UNIT V
The following are the particulars of investment of Mr. Bupesh Gupta for the previous year
ended 315t March, 2009 — 2010.
(a) Rs. 1,00,000, 2% tax free Kerala Government seéurities.
(b) Rs. 2,60,000, 6% tax free debentures of Birla Jute Co., Ltd.,
(¢)  Rs. 90,000, 4% (less tax) A.P. Government Bonds.
(d) Rs. 1,80,000, 10% Fixed deposit with Indian bank.
(e) Rs. 70,000, 8% Preference Shares of a Company.
(f) Bank charges paid Rs. 60. _
(g) Interest paid on loan taken fof the purchase of tax free government securities Rs. 850.
(h)  Income from other heads in Rs. 2,05,100.

Compute the income from interest on securities.
7 (1602)



18.

2009-10 SO § #rhE N Gy, erabin K B8 begue wod So. e Hod 5§0
6§bo@m>.

(a)
(b)
(c)
(d)
(e)
®
()
(h)

From the following particulars compute the tax liability of Mr. Gopinadh.

(a)
(b)
(c)
(d)

&7, 1,00,000, 2% 408 Sy $6¢ (5e0sg bergBeden
8. 2,60,000, 6% Ber Sod dNBESD (428 I3y) EBoSH

&, 90,000, 4% (549 BROD) SOGHAF 9808 B

. 1,80,000, 10% R0EADS wrPHER HHE Saden

&, 70,000, 8% 5020E™ Q85 Treren
390 argtd Then &, 60
&8 S (D08 ErBler SRR 0K efp 3Yodd G 8. 850

aBs Y5 2o earain 8. 2,05,100.

Or

Income from salary Rs. 55,000.

Income from house property Rs. 24,000.
Income from long-term capital gain Rs. 81,000
Income from other sources Rs. 14,000.
Deductions allowable as per I.T. Act.

(i) Rs. 86,000 u/s 80 C

(i) Rs. 5,000 u/s 80 D

(iii) Rs. 10,000 u/s 80 G.

BKD DD D3B30 008 & FoTrd Buog), Iy eresBRo B8),09d :

(a)
(b)
(c)
(d)

S0 Hu0d esgralinw . 55,000

Ry 9006 esTratin 8. 24,000

&35‘@5 ‘;7&88)& ergrop earaan 8. 81,000

FBT HHBe Hood esrroDnHN S, 14,000

@By BRw (IS8R0 BRoHre ©00B0IVEHD
(1) &S 80D [I5esHw 8. 86,000

(i) »ES 80& |Sse8:a0 . 55,000

(i) %S 808 (SsEB0 8. 10,000.
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(1603)
B.Com. DEGREE EXAMINATION, MARCH 2012.
(Regular)

(Examination at the end of First Year)
Part Il — CENTRAL SALES TAX AND A.P. VALUE ADDED TAX

Time : Two and half hours 3 Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)
; Answer any FOUR of the following.
1.  Explain Registered Dealer under CST.

Bos evsyo Sy (Ss°50 BB deotd.
2. - Sale under CST.
Bo|E edyso (H5°80 edysten.
3.  Place of Business under CST.
Bos edEY Iy [I5eo HBE F5o.
;1, Inter State Trade or Comrﬁénce.
©08b o7 S5o.
Casual Dealer under VAT.

(1]

Dend &ErBB Iy (55760 alrEyaE o,

6. Input Tax and output Tax under VAT.
Ded &ErBS 5 (55760 &@)B 5Ky 2B WIMT I0?

=~

Rates of VAT.
Ded egrB% 5y Bew.
8.  Registration of Dealers under VAT.
Deud GBS Sy (35780 o BRI
SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.
UNITI

9. Write objectives and characteristics of CST.
ZoBon eiyso 33y edTen SiBaky oFTres Frabod.

Or

10. Explain the objectives and features of VAT.
Dend eprod Iy oFTen 2B ofeTe d58ovk.



UNIT II

11. Explain the method of finding out sales price under CST.

Zo8ah eS80 33y (F5°0 eBnso Goew dFaow :Sgéﬂ) 25808050.

Or

12. Discuss various exemptions under CST.

ZoBah edyo 3y (5780 WHIFaoYHe Erabod.

UNIT III

13. Mr. Yaswant’s gross turn over of the inter-state sale during the accounting year is 20 lacks.
From the following information compute his taxable turnover.

Aggregate of sale price Rs. Tax collected %

8,80,000 10%
6,24,000 3%
2,10,000 5%
2.,86,000 Exempted goods

The dealer has not submitted any form to the authorities.

& aE508 88 $0BoD), BBl oo ERES® Mre eBER 20 ofe 808 Jdtre SFALOE® Hy HBOBEAD

5833 B8),0508.
Ko &8 38y DG Bew
8,80,000 10%
6,24,000 3%
2,10,000 5%
2,86,000 BFPa00BED HYew

dot) Jeidotd SEren 58y efsEeDH 3508)0sB.

Or

14. From the following particulars compute taxable turnover of Mr. Naik under the CST Act.

(a)

(b)
(c)
(d)

(e)

Gross amount received or receivable by the dealer durmg the quarter (excluding the
sales tax) Rs. 10,00;000

Sale of goods out side the state 10,00,000
Sale of goods in course of export out side India Rs. 50,000

Cost of freight and installation charged separately but included in the turnover (in case
of inter state sale) Rs. 20,000

Subsequent sale in the course of inter-state trade to a registered dealer 2,00,000.
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& ranE 808 250ren BOEBITHE.

(a) K6 Bt F0S° ot Tardyd 2080 25 Jngo (esyso Sy s°¥oa) 10,00,000.
(b) o"go Doy BIRSTeD . 10,00,000e0.

(c) Do Jeode edysten . 50,000e0.

(d) edysted” Sodpi) Tarer DB FIS P80 (8086 o°g eds°S") . 20,000e0.

(e) eosboy edysred’® H5058 edysten . 2,00,000.
UNIT IV
15. Explain the features o_f Rate of Tax under CST.
ZoBakh eaysY I8y B0 [@F5PEo S8y Bew ofrren D600k,
Or
16. Explain different VAT Rates.
Dewd egrod By B0 9580H0s.

UNITV

17. Mr. Prakash a registered dealer in Andhra Pradesh VAT. His aggregaté sale and purchases
for the Quarter ended 30th September, 2010 are as follows. Calculate VAT payable.

VAT rate Sales Purchases
0% 1,05,300 2,56,000
1% 252,600 1,81,000
4% 4,26,400 -
14.5% 1,15,313 80,000
Exempted 4,34,000 3,05,200
During this period two computers worth Rs. 52,000 (excluding VAT) is purchased and VAT
rate on the some is 4%. ’
& (95°% a¥ B2 Soth (eoHBR Tged Do (H5°0) BBD IO edyster Hobd §0R*y Dgow 30
T¢38 (208 D¢orT HTEw. DYoBIOVH Toges BB DY 88,0008,

:!\395 Bew eiysed VTS
0% 1,05,300 2,56,000
1% 2,52,500 1,81,000
4% 4,26,400 -

14.5% 1,15,313 80,000

dFovonadsa 4,34,000 3,05,200

D sPwos® &. 52,000 e DenHaND Boh S0 (25 Bhow) §%0R'en Bobdo wanoB. 52 (VAT)

Be 4%.

Or
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From the following information, calculate the net tax payable.

(a) Input procedure within a Rate Rs. 5,00,000
(b) Output sold during the month Rs. 10,00,000
(¢) Rate of Tax 10%.

(808 2500 o0& IO VK Shyesd Benod.
(a) (5% Dyaddd (mg\oé‘ 5,00,000)
(b) 6Re&® 8BRS ©iyseen 10,00,000

(c) D%y Bew 10%.
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12.

13.

(a)

(b)

(a)

(b)

UNIT IV

Explain the Price determination under
Perfect Competition Market.

S36:g %3 558,656 0G0 Bewiiu.

Or

Explain Equilibrium and  Price
determination under Monopoly.

DEF00S° B5F @580 BB 8 YA
287050,
UNIT V

Write the causes and consequences of Trade
Cycles.

TEEIE  EEDE Ko so¥even,
SBETHIBNOR0 DHB0DB.

Or

Explain the role of WTO in promotion of
International Trade.

@0 TR oPNES'T WIO 2B
DHBoHD0.

4 (1201)

(1201)

B.Com.(Regular) DEGREE EXAMINATION,
MARCH 2012.

(Examination at the end of First Year)
Part IT — BUSINESS ECONOMICS
Time : Two and half hours Maximum : 70 Marks
SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.

i [ Scope of Business Economics.
TS OFTHI0 — 568
2. Returns to Scale.
BETHDI00D DAHeTe0.
3.  Law of Supply.
D000 RIPBS0.
4.  Individual Demand — Market Demand.

55818 G306 — $70),¢5 Gdorok.



5. Cross demand. UNIT IT
eBs0B8 G570k 10. (a) Explain the counting methods of the
elasticity of demand.

6. Kinky demand curve.
&Ghrol  TStoBgind  Sesdo  IZB0OR

208 &5r0& Bo.
DHBoHD.
7.  Types of Monopoly.
Or
DERGHIg B5°R0.
(b) Explain the law of demand and its
8. Balance of Trade — Balance of Payments. exemptions.
S8 B350 — ddoHo FSH0. ‘ G406  SrpRo  9%80d, TR Ko
SECTION B — (5 x 10 = 50 marks) DD OV0HORI BEYDD.
]
; Answer ONE of the following from each unit. UNIT III
UNIT I 11. (a) Write about the Internal Economies and
9. (a) Define Business Economics. Explain Nature External Economies.

and Scope of Business Economics.
oBED ST 508050 gD STO 158y

Tog8 ©ZFYON DELD0D, TR IR DO
$080300 8D DHB0HDW.

po‘in:fm.

Or
Or

: ) : (b) Explain the Law of Variable Proportions.
(b) Explain the law of Equi-Marginal Utility. '

SATEr0B (SEBFES AIEBOR) HBOLI®. HORIZB BB HHB0YI.
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UNITV

15. What is the Organization? State its features and
objectives.

DR GVTIN? 7D FETrold QO™ Bein.

16. What is the delegation of authority? What are the
elements of delegation of authority?
BH5°S [SF00 BITRW? B (HFR0S” BWEDRY

©0TSI?

A (1208)

(1203)
B.Com. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of First Year)

Part II — BUSINESS ORGANIZATION AND
MANAGEMENT

Time : Two and half hours Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following. -
1.  Functions of Entrepreneur. -

oRIDRIE déoen.

2.  Features of Sole trader.

sbvoéméabvéo ofgTen.

3.  Limited partnership.
2B g i{RrgR080.

4.  Prospectus.

38905 So.



Qualities of Leadership.
TPOEBS OFETeD.

Formal Organization.
POV EAD DI
SECTIONB — (5 x 10 =50 marks)
Answer any ONE of the following questions.
Selection for ONE question from each Unit.
Each question carries 10 marks.
UNITI
What are the characteristics of entrepreneur?

DoIDRTSE VEETBD? .

What are the advantages and types of preference
shares?

Q55D Tere [FAreres HoBako 85°B827?

UNIT II

Explain different types of partners.
DG 8570 RO DHBouRw.
2 (1203)

10.

11.

12.

13.

14.

What do you mean by Joint Hindu Family? What
are the advantages and disadvantages of it?

ax’n&& 2P0&T® £360020 BDTRIN? @R @e‘,ﬁ?ﬁ%@b?

UNIT III

What are the stages involved in promotion of a
Company?

Lo HPPIHS D 20¢ 5382

What is the Memorandum of Association? Explain
the clauses in it?

BRI JBo BB/TDA? TS Tereiy dHBodod.

UNIT IV

Explain the Functions of Management.

DTG DEIOD 2580506,

Explain the types of Plans.

Ler@ES® Ssroy 580Nk,
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13. (a) What is multimedia? Explain any three
Multimedia devices. (1204)

SBBodasr w20 Hi Samds Siddodate B.Com. DEGREE EXAMINATION, MARCH 2012.

$BETreR H5B0D0&. (Regular)
3 i ' (Examination at the end of First Year)
r

(b) What is E-Commerce? Explain about Part [T — FUNDAMENTALS OF INFORMATION

Internet banking and online publishing. TECHNOLOGY
Hs-57000)  @XMTHA? 2060053¢5 zaoéogoﬁ Time : Three hours Maximum : 70 marks
2080500 858 SR HB0H JDBodod. SECTION A — (5 x 4 = 20 marks)

Answer any FIVE of the following questions.

Each question carries 4 marks.

1. Explain about RAM and ROM.
RAM 508050 ROM 0809 2:580w0é.

2.  Explain any two network types.
D Botkh I5IB); E5ee HHBoWBD.

3. Explain about Fax and Voice mail.

258y 22805 T0H oS B0 H9B0HID.
4. What are Wild card characters?

4 (1204) Q_g 5°§ 53656@3 D7



Explain about Find and Replace.
0& D0Basn 820 o 258oDod.

Explain about Auto fill.
e3¢5°9S K809 9560508

" How to Save and Open a presentation? Explain.
PBEoBASH Jdor hS soBatn ADS  Ban?
DHIBoWOBW.

Explain about Online payment system.
BOBS 830065 Do HBod DHBoBOG.

SECTION B — (5 x 10 = 50 marks)
Answer the following questions.
Each question carries 10 marks.

(a) What are the characteristics and limitati_oﬁs
of the computers?

50:ge0b GBaog); oFeTen HoBokw H80BBI?
Or

(b) Explain about any five secondary memory
devices.

97 Dotk BgdAH Doy HOESH0EH HB0D
D5B80H0s.
2 (1204)

10.

11.

12.

(a)

(b)

(a)

(b)

(a)

(b)

"What are

Explain different types of operating systems.
29 8570 e336630M PSR VHBoBOE.

Or

Explain any five DOS External commands
with examples.

53w % DOS
SOrTEne8" 9580908,

mfﬁc‘gé E37°00000

What are the features and advantages of
word processing?

98 @F0h Bong); o¥pen AN errBd?

Or

the functiohs available in
Ms-Excel? '

MS-Excel &° ®w5m633§ DD HoERD?

What are the services available on internet?

205H5:3¢565° 00D VIBD?

Or

How will you set custom animation and
transition in a power point slide? Explain.

396 dmowoed REH KPS AHBES BaBatn
L) 30 DDEFOM W5 BoSKB? 95B0D0d.

3 (1204)



(1604)

B.Com. (Regular) DEGREE EXAMINATION,
MARCH 2012.

- (Examination at the end of the First Year)
Part Il — MARKETING COMMUNICATION
Time : Two and a half hours Maximum : 70 marks
SECTION A — (4 x5 =20 marks)
Answer any FOUR of the following.
1. Advertising.

2.  Communication.
B Home selling.

4, Branding.

5.  Marketing media.
6. Publicity.

SECTION B — (5 x 10 = 50 marks)
Answer any FIVE of the following selecting one from

‘each unit.
UNITI
7. Explain the nature and importance of
communication. -
8.  Discuss the objectives of marketing
communication.

10.

11.

12,

13.

14.

- 15.

16.

UNIT I

Define ‘communication’. Explain the process of
communication.

Explain the steps in developing effective
communication.
UNIT I11

Discuss the role and limitations of advertising in
general. : :

What do you mean by sales promotion? Explain its
role in marketing communication.
UNIT IV

What is meant by personal selling? Explain
characteristics of personal selling.

Discuss the steps involved in setting up of sales
targets.
UNITV

Explain the role of integrated communication in
advertising.

Explain the role of marketing media in marketing
communication.

2 (1604)
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B.Com. DEGREE EXAMINATION, MARCH 2012.

(Regular)

(Examination at the end of First Year)

Part I — ADVERTISING — I (ADVERTISING, SALES

Time : Two and half hours

I L

PROMOTION AND SALES MANAGEMENT)

Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following.
Importénce of advertising.
Differentiate advertising and publicity.
Advertising appeal. .
Advertising copy.
AIDA model.
Broadcast media by

SECTION B — (5 x 10 = 50 marks)

Answer FIVE of the following questions, selecting ONE

question from each Unit.
UNIT I
Discuss advertising. Enumerate its features.

Discuss the role of advertising in promoting sales.

10.

I b

12.

13.

14.

15.

16.

UNIT II

Explain the different types of advertising.

What is commercial advertising? What are the
various forms of commercial advertising?

UNIT III

Discuss the DAGMAR approach for setting
advertising cbjectives.

What are the characteristics of a good advertising

‘objective?

UNIT 1V

Discuss the factors that influence advertising
budget.

Discuss the different types of media used in
indirect advertising

UNITV

What is direct mail advertising? Discuss its
advantages and disadvantages.

What is advertisement copy? Discuss the qualities

of a good advertisement copy.

-~
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(i) Type bar

()  Shift key

(k) Carriage rail

() Right platen knob

Type the following in double space in 10 minutes.
(10

Life insurance made its debut in India over
150 years ago. It was first introduced in the year
1818. Tital Insurance Co. Ltd. was established as
the first general insurance company in India in
the year 1850. Insurance regulation formally
began in India with the passing of the Life
Insurance Companies Act of 1912, After
independence the insurance began to grow in
faster pace. The Government of India then brought
together over 240 private life insurers and
provident societies as one nationalised monopoly
corporation, LIC was thus born in 1956.

With the Indian insurance offering a huge and
untapped potential, competition is intensified with
product innovations, better service and multiple
new channels. The present insurance sector is now
having many foreign players and Indian
companies offering various benefits to the
customers. The nationalised and private banks
also entered the market but there is large scope of
development insurance in India as whole. Now
insurance is available in modern facilities like
online insurance payments, online policy
selections, etc. ULIPs, systematic investment
plans - which attract the young generation
investors. :

4 (1703)

(17035

B.Com. (Regular) DEGREE EXAMINATION,

MARCH 2012.

' (Examination at the end of First Year)

Part [ — OFFICE MANAGEMENT AND

Time : Two and half hours

1.  Answer any TWO of the following :

(a)

(b)

TYPE WRITING

Maximum : 70 marks
PART A — (50 marks)

(OFFICE MANAGEMENT)

(2 x 20 = 40)

What are the important principles of office
organization? What are the types of office
organization? :

SorROl DHHEH S0P BT Ered da0e3?
DD BS°G SO DFIPOR Bedok.

What are the factors affecting the selection of
office location? Do you think that

decentralised location is better than
centralised location of an office?



(c)

CY

SeORgR AR Qo) (SBEI0R QYT R0Ed
$BKeaS™E BE VoD wower 2?7 JSo|B5S
SO [SBES0 B0 g% sEAD HUER0 8
D0ERHED WO GFPARTHT?

Discuss the different types of communication

systems. What are features of effective
internal office communication?

DD 65"@_:) P Pu S i Lo 2355@0&’1) KJ"B‘) BNk,
DogHotHann eooégé 5°U‘§e>o‘i) PDATTS b,si.’aé
@ a-

ogeTe0 297

Discuss the advantages and disadvantages of
office mechanisation. What are the
standards to select office machines for a
modern office?

soorgecsH ohodEtE HON OTEreRd SoBasw

Raxedo 9580908, e3toE wsooimnegs

SPH0DH  aDo@HNey JAYETRE EATTETeD
D20e37?

2 (1703)

Answer any TWO questions : 2x5=10)
(a) Stencil duplicator.
RS cryiub.
(b) Dispatch register.
Emyd Be3b.
{(¢) Types of office layout.
Sorgechd ©085S° 2265 5een.

(d) Importance of filing.
2O0R By, P505S.

PART B — (20 marks)
(TYPE WRITING)

Answer any TEN questions : (10 x 1 = 10)
(a) Carbon roller 3
(b) Ribbon indicator
(¢) Left margin key
(d) Line space indicator
(e) Carriage return
() Paper release
(g) Type lever
(h) Paper finger

s (1703) -



